75 NE iEs | BES [ 5% CRYD) B2
1 BEIE 11 209 98.91 Begl LIl %
2 BEIE 15 127 98. 82 B2l LI
3 BEJE 11 406 98. 67 B 2 LI
4 BEIE 17 415 98. 64 B2l LIl
5 BEIE 24 107 98. 61 B2l LI
6 BJE 22 320 98. 59 Bidl LIS %
7 BEJE 17 416 98. 57 B2l LIS
3 7 [ 7 116 98. 56 B 2L 42 A
9 BEJE 18 207 98. 51 B2l LI
10 BRIE 24 102 98. 50 B2l LI
11 BEIE 15 126 98. 46 Bidl LIS =
12 BEIE 11 109 98. 45 B2l LI =
13 BEJE 18 104 98. 45 B 2 LI
14 BEJE 11 409 98. 45 B2l LI &
15 BRIE 18 118 98. 43 B2l LI
16 BJE 17 418 98. 42 Bidl LIS %
17 BEJE 15 121 98. 40 B2l LI
18 BEJE 17 405 98. 36 B 2 LI
19 75 il 7 115 98. 35 28
20 BRIE 18 102 98. 34 B2l LIl &
21 BEIE 15 222 98. 30 Bidl LAl %
22 BEIE 18 121 98. 29 B2l LIS
23 BEJE 11 110 98. 29 B 2 LI
24 BEIE 18 213 98. 28 B2l LI
25 BRIE 11 106 98. 27 B2l LI &
26 BJE 17 419 98. 26 Bidl LIS =
27 BEJE 16 121 98. 23 B2l LI
28 BEJE 16 106 98. 19 B 2l LI
29 BEIE 18 211 98. 18 28
30 BRIE 11 212 98. 17 B2l LI




